BETA FUNCTION

21.3 BETA FUNCTION

fnm K —x)y" Vdx (I=0,m=>0)
is called the Beta function of [, m. It is also written as
Bl m) = j;_xi “1(1—xy" 1 dx.
21.4 EVALUATION OF BETA FUNCTION
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Integrating by parts, we have
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Again integrating by parts
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And if only [ is positive integer and not m then
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21.5 A PROPERTY OF BETA FUNCTION
B(l.m) = B (m.])

Solution. We have
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Example 8. Evaluate I xX(1—vx)Ydx
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Example 9. Evaluate I (I -x%) 2dx
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21.6 TRANSFORMATION OF BETA FUNCTION
We know that
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Putting the value of JT W dxin (1) we get
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